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Where the 1''p is not refuted, he agrees to 17

OVERVIEW

7197V °27 maintains that P17 %12 17p pays w"1 for we derive it from a 1"'p. We do
not say 7 (since 1"772 7P pays only a 1", it should only pay a pr17 2¥ma 1),
because if we will say 17 the 1" will be ineffective. On the other hand we do say
17 to limit the payment of P1°177 7%n2 9P that it is only 19131, not 73°%v1 11, since the
1"p 1s still effective to have him pay a w"1. Our Mo01N explains why we cannot say
the reverse (1"n but 775V ).

nooIn asks:
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And if you will say; but let us say the opposite; the v''? teaches us that %12 17p

P1°17 pays 7°%%wt 3%, and 197 teaches us that the P17 9%n2 199 pays only a 3" (from
the %) —

N1B0IN answers:
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And one can say that this way (which the X ) states, 19 w"l) is more
acceptable, for when we say 1’7 regarding that he pays 91a%», we are not

changing at all from the 1" as it was (the initial 11 *¥n was 2 and now also he is
paying a 19131 P11 xXn) -

= NN PTIOSN TIY PYY 1PSDI INY NN
Only that we are adding another 1" (also 11n); it is like he is paying the original 11

(which was [originally] and is [now] 191) and an additional 11 -
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However if the 1" will be for 7977 12 and you will say the 7 to limit it to 1",

you have completely uprooted the payment from the initial 1'"'17; there remains
nothing from the initial payment -

137 teaches us that the rule being learnt from the 1"p (the 717) cannot be stronger than the source of this rule (the
7n2n). In our case 7P has two weaknesses; it pays only a 1", and only 1. However v maintains that if we will
say 17 for both these weaknesses, the 1"p from 2" would be ineffective. Therefore we ignore one weakness (1"1)
and say that pr17 7%n2 77 pays a @"1, but we accept the other weakness (2?wn 19131) on account of 1°7.
2 If %371 7w who are 7"7172 Mo, nevertheless they pay pran xna 79¥: 19, so 199 which is 7"7172 27, should certainly
pay m9¥i 12 in Proaa e
* The 1"p will be effective for 17p paying p1°17 2%n2a 75w 1, and 7 will be effective to limit the payment of n
7995 in Pro37 IX0 to pay only a 1'm.
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Since you have taken it out of 1231 payment and established it for oy
payment -
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And in any manner which we can uproot the 1"'{? and sustain the 7, we need
to sustain it in that manner

SUMMARY
Changing from » to 7917 11 (even if both are a 1"n) is a greater change than
from 1" to "1 (if both are 1917).

THINKING IT OVER

Seemingly the difference between D and 7°%vn 12 is (also) only in quantity (if
the damage is more than 11 is worth, he will receive less if he is 191 o%wn than if
he is 7°%¥ 1 0%wn). This difference is not in all cases (only in cases where D% is
not worth the p1°77). However the difference between 1"n and w"1 is in all cases. It
would seem that changing from 1"17 to ¥"11s a greater change than from 2 to »
7oyn!

* There is therefore no similarity between the original 1"n which is 19 to the new 1"n which is 79977 1 (even
though they both pay a 1"n. See “Thinking it over’.
> A"p wants to derive as much as possible for the 19; while 17 wants to limit what we can learn for the 715 so that
it should not exceed the 7non. If we derive anything new (albeit minimal), we have validated the "7. However if we
give the 7% something which is not in the 7197 (albeit minimal), we have contradicted (the logic of) 7. Therefore it
is necessary to limit what is being derived from the 1" (when there is an issue of 17) to the minimum.
® A 1"p is limited by the rule of 7. However v"7 maintains that if by utilizing 1°7 the 1"p becomes ineffective we do
not utilize 7. However if even by utilizing 1°7, the 1"p is still effective; then the rule of 17 is supreme; meaning that
we limit the 1"p to the greatest extent, that the new rule (712?) should be as close as possible to the initial rule (72%1),
which 17 requires. In our case by saying 7 for 191an retains a semblance of the original rule (17 1"1) plus an
addition (another 191 1"1). However if the 1"p teaches us 7517 10, it is completely different than the original rule of
19, which is 1.
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